
SAP ABAP table VTRDI {Shipment Planning Index}

VTRDI

MANDT [CLNT (3)]

TRSTA [CHAR (1)]

VSTEL [CHAR (4)]

TDDAT [DATS (8)]

VBELN [CHAR (10)]

LSTEL [CHAR (2)]

ROUTE [CHAR (6)]

TRAGR [CHAR (4)]

VSBED [CHAR (2)]

LAND1 [CHAR (3)]

LZONE [CHAR (10)]

GEWEI [UNIT (3)]

VOLEH [UNIT (3)]

KUNNR [CHAR (10)]

SPDNR [CHAR (10)]

INCO1 [CHAR (3)]

LPRIO [NUMC (2)]

TRSPG [CHAR (2)]

TRATY [CHAR (4)]

TRMTYP [CHAR (18)]

VSART [CHAR (2)]

SDABW [CHAR (4)]

RELOC_ID [CHAR (10)]

RELOC_SEQ_ID [CHAR (4)]

_ISDFPS_REL

MANDT [CLNT (3)]

RELOC_ID [CHAR (10)]

 VTRDI-RELOC_ID = /ISDFPS/REL-RELOC_ID 

0..N

0..N

_ISDFPS_RELSEQ

MANDT [CLNT (3)]

RELOC_SEQ_ID [CHAR (4)]

 VTRDI-RELOC_SEQ_ID = /ISDFPS/RELSEQ-RELOC_SEQ_ID 

0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 VTRDI-KUNNR = KNA1-KUNNR 

0..N

1

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 VTRDI-SPDNR = LFA1-LIFNR 

0..N

1

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 VTRDI-TRMTYP = MARA-MATNR 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 VTRDI-LAND1 = T005-LAND1 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 VTRDI-GEWEI = T006-MSEHI 

0..N

1

 VTRDI-VOLEH = T006-MSEHI 0..N

1

T173

MANDT [CLNT (3)]

VSART [CHAR (2)]

 VTRDI-VSART = T173-VSART 
0..N

{0,1}

TINC

MANDT [CLNT (3)]

INCO1 [CHAR (3)]
 VTRDI-INCO1 = TINC-INCO1 0..N

1
TPRIO

MANDT [CLNT (3)]

LPRIO [NUMC (2)]

 VTRDI-LPRIO = TPRIO-LPRIO 
0..N1

TTGR

MANDT [CLNT (3)]

TRAGR [CHAR (4)]

 VTRDI-TRAGR = TTGR-TRAGR 

0..N

1

TTSG

MANDT [CLNT (3)]

TRSPG [CHAR (2)]

 VTRDI-TRSPG = TTSG-TRSPG 

0..N

1

TVLA

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

LSTEL [CHAR (2)]

 VTRDI-LSTEL = TVLA-LSTEL 

0..N

1

TVRO

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

 VTRDI-ROUTE = TVRO-ROUTE 

0..N

1

TVSAK

MANDT [CLNT (3)]

SDABW [CHAR (4)]

 VTRDI-SDABW = TVSAK-SDABW 

0..N

0..N

TVSB

MANDT [CLNT (3)]

VSBED [CHAR (2)]

 VTRDI-VSBED = TVSB-VSBED 

0..N

1

TVST

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

 VTRDI-VSTEL = TVST-VSTEL 

0..N

1

TVTY

MANDT [CLNT (3)]

TRATY [CHAR (4)]

 VTRDI-TRATY = TVTY-TRATY 

0..N

0..N

TZONE

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZONE1 [CHAR (10)]

 VTRDI-LZONE = TZONE-ZONE1 

0..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 VTRDI-VBELN = VBUK-VBELN 

0..N

1


